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[RxEE (B HLeetCode] 653. Two Sum IV - Input is a BST
Description:

Given a Binary Search Tree and a target number, return true if there exist two elements in the
BST such that their sum is equal to the given target.

Example 1:
Input:

5
/\
3 6

/\ N\
2 4 7
Target = 9
Output: True
Example 2:
Input:

5

/\
3 6

/\ N\
2 4 7
Target = 28

Output: False

B ARER "R TIMEZM. EEXBEARIREE, BRPAITTEEREHEERKR, X
ﬁr—_?%g%% —YEZRMOPFRDEREEENNIXEFN, BFARIFERMETNAEK
BEEMEZ.

C++{LH3
/**

* Definition for a binary tree node.

* struct TreeNode {

* intval;

*  TreeNode *left;

*  TreeNode *right;

*  TreeNode(int x) : val(x), left(NULL), right(NULL) {}

class Solution {
public:

[ESZ5EE: [EH LeetCode] 653. Two Sum IV - Input is a BST


https://www.tuhaoxin.cn/articles/2019/05/18/1558174295792.html
https://ld246.com/article/1558174369215

bool findTarget(TreeNode* root, int k) {

vector<int> vec;
inorder(root,vec);
for(int i=0, j=vec.size()-1; i<j;){

if (vec[i] + vec[j] == k)

return true;

(vecli] + vec[j] < k) ? ++i: --j;

}

return false;

}
void inorder(TreeNode* root, vector<int> & vec)
{
if('root)
return;
inorder(root->left,vec);
vec.push_back(root->val);
inorder(root->right,vec);
}
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